THAFEEREREE BhhRERXR) BEEBREREMRET (B2R)

EHES  18-19-22-037
ERBE2E NMNHHEER
EHE -8B RE| ERSEL - ZBER
B ERSE

ZEEH 0m
FERS EREE
FHEE BILEXE
FHER BIYEE
B REHRHE




BERNREK SFAE IR B (I8t oh 58 OBGS E BB R E MR (H20)

£ i R - BARsHE BT % 2 Bl & # m =
BRI 13, 363, 211
BaEY] 13, 363, 211
EEkEt 13, 363, 211
B S E IR R R ERET 12,901, 800
REtetE 109, 800
1 &EtEtE 1.00 109, 800 109, 800
=®
EIE 1,900, 600
2 FEBE®RE 1.00 290, 400 290, 400
=
3 VRERL 1.00 285, 000 285, 000
=
4 FEIEtERE 4.00 262, 700 1,050, 800
BH
5 TiRstEER 1.00 274, 400 274, 400
=®
EEkEt 1,971,200
6 BIEER 4.00 137, 200 548, 800
247
1 HEHE 4.00 68, 600 274, 400
247
8 MEIEEET 8.00 143, 500 1,148,000
247
CIME TILIERL 7,791, 400
9 BIN/CINEfEEtEE 1.00 130, 600 130, 600
=
10 82 (LI, THI - £HEI) £F 1.00 4, 355, 200 4,355, 200
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1 {AEY/HmSDOFEFT v 1.00 1,980, 800 1,980, 800
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12 BHEFROHE 1.00 1,324, 800 1,324, 800
=

[E2S 628, 100

13 S|RESER 1.00 401, 900 401, 900
=

14 BIM/CINE TILIREEMER 1.00 226, 200 226, 200
=

BE 231,900

15 & 1.00 92, 800 92, 800
=

16 BIM/CINETILEBE 1.00 139, 100 139, 100
=

i - |mE 268, 800

17 & - |E 4.00 67, 200 268, 800
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[E2S 300, 000
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HEE 37, 400
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% g - AKSTiE Bifr 2 B i & 8 W =
BRI 12,901,800 + 461,411 13,363, 211
EEAGE 12, 901, 800
BE#ERE 461, 411
T DR 12,901,800 x 53.85% ( 35% + (1 — 35%) ) 6,947, 619
BRI 13,363,211 + 6,947,619 20,310, 830
—REEES 20,310,830 x 53.85% ( 35% + (1 — 35%) ) — 8 211 10, 929, 170
KBS 20,310,830 + 10,929,170 31, 240, 000
HETR SR L 31,240,000 x 10.00% 3,124,000
EBERN 31,240,000 + 3,124,000 34,364, 000
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%5 REHETE 1LY
2 b g - BIRTE L= vd = it ® # " =
FEHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
& Hi 1E%HeH - 1.00K 109, 800. 00 109, 800
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£ %5 RiERE 1LY
2 b g - BIRTE L= vd = it ® # " =
AR (A)
A 0.50 51, 200. 00 25,600
HEm (B)
A 2.00 41, 600. 00 83, 200
AR (C)
A 2.00 32, 800. 00 65, 600
g
A 4.00 29, 000. 00 116, 000
& B 1E%HeH - 1.00K 290, 400. 00 290, 400
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&% VRER 1LY
2 b g - BIRTE = v = it ® 5 # " =
HEm (B)
A 1.00 41, 600. 00 41, 600
AR (C)
A 3.00 32, 800. 00 98, 400
g
A 5.00 29, 000. 00 145, 000
& B 1YE%HeH - 1.00K 285, 000. 00 285, 000
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2% EIEERE 1IBELY
2 b g - BIRTE L= vd = B ® # " =
AR (A)
A 0.50 51, 200. 00 25,600
HEm (B)
A 1.50 41, 600. 00 62, 400
AR (C)
A 4.00 32, 800. 00 131, 200
g
A 1.50 29, 000. 00 43, 500
& B 1E%HEH - 1.00IEH 262, 700. 00 262, 700
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2 b g - BIRTE L= vd = B ® # " =
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 2.00 41, 600. 00 83, 200
AR (C)
A 2.50 32, 800. 00 82,000
g
A 2.00 29, 000. 00 58, 000
& B 1E%HeH 1,00 274, 400. 00 274, 400
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2 b g - BIRTE = v = B ® 5 # " =
AR (A)
A 0.50 51, 200. 00 25,600
HEm (B)
A 1.50 41, 600. 00 62, 400
AR (C)
A 1.50 32, 800. 00 49, 200
& Hi TEZEREH - 1.002 4T 137, 200. 00 137, 200
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2 b g - BIRTE By H = B ® W = " =
AR (A)
A 0.25 51, 200. 00 12, 800
HEm (B)
A 0.75 41, 600. 00 31,200
AR (C)
A 0.75 32, 800. 00 24,600
& B TEZEREH - 1.002 4T 68, 600. 00 68, 600
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2 b g - BIRTE By H = B ® W = " =
AR (A)
A 0.50 51, 200. 00 25,600
HEm (B)
A 1.00 41, 600. 00 41, 600
AR (C)
A 1.00 32, 800. 00 32, 800
g
A 1.50 29, 000. 00 43, 500
& B TEZEREH - 1.002 4T 143, 500. 00 143, 500
E5:9
&% : BIN/CINERETEE 1tmy
2 b g - BIRTE By o = B ® 5 W = " =
FEHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 0.50 41, 600. 00 20, 800
& Hi 1E%HeH 1,00 130, 600. 00 130, 600
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2 b g - BIRTE X = B 4 ) # " =
AR (A)
A 8.00 51, 200. 00 409, 600
HEm (B)
A 16. 00 41, 600. 00 665, 600
AR (C)
A 100. 00 32, 800. 00 3, 280, 000
& Hi 1E%HeH - 1.00K 4,355, 200. 00 4, 355, 200
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2 b g - BIRTE X = B 4 ) # " =
AR (A)
A 4.00 51, 200. 00 204, 800
HEm (B)
A 8.00 41, 600. 00 332, 800
AR (C)
A 44.00 32, 800. 00 1,443, 200
& Hi 1E%HeH - 1.00K 1, 980, 800. 00 1,980, 800
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2% BHEROMS 1XEY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 4.00 51, 200. 00 204, 800
HEm (B)
A 8.00 41, 600. 00 332, 800
AR (C)
A 24.00 32, 800. 00 7817, 200
& Hi 1YE%HeH - 1.00K 1, 324, 800. 00 1,324, 800
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£ MESERK 1LY
2 b g - BIRTE L= vd = B O ® # " =
FEHRAR (F%ET)
A 1.50 58, 600. 00 87,900
AR (A)
A 2.50 51, 200. 00 128, 000
e (B)
A 2.50 41, 600. 00 104, 000
AR (C)
A 2.50 32, 800. 00 82,000
& Hi 1E%HeH - 1.00K 401, 900. 00 401, 900
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&% : BIN/CINEFIILIREZER 1%y
2 b g - BIRTE L= vd = B O ® # " =
FEHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.50 51, 200. 00 76, 800
AR (C)
A 1.00 32, 800. 00 32, 800
g
A 2.00 29, 000. 00 58, 000
& B 1E%HeH 1,00 226, 200. 00 226, 200
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2 BE 1LY
2 b g - BIRTE = v = B Ol ® 5 # " =
AR (A)
A 1.00 51, 200. 00 51,200
e (B)
A 1.00 41, 600. 00 41, 600
& Hi 1E%HeH 1,00 92, 800. 00 92, 800
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2 b g - BIRTE X = B 4 ) # " =
FEHRAR (F%ET)
A 1.50 58, 600. 00 87,900
AR (A)
A 1.00 51, 200. 00 51,200
& Hi 1E%HeH - 1.00K 139, 100. 00 139, 100
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2 b g - BIRTE X = B 4 ) # " =
AR (A)
A 0.50 51, 200. 00 25,600
e (B)
A 1.00 41, 600. 00 41, 600
& Hi 1YEZHEH - 1.00[E 67, 200. 00 67, 200
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&% EHARE 1XEY
2 b g - BIRTE By = B 4 ) # " =
EXRARE
= 1.00 124,011.00 124, 011
& B 1E%HeH 1,00 124,011.00 124,011
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EBHRERERE
= 1.00 300, 000. 00 300, 000
& Hi 1E%HeH 1,00 300, 000. 00 300, 000
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= 1.00 37, 400. 00 37, 400
& &t 1EZBER - 1.00 37, 400. 00 37, 400




